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Question Number : 1 Question Id : 2549896420 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which program do you use to manage folders and files in Windows10?
Options :

1. * Accessories

2. % Control Panel

3. ¥ File Explorer

4. ® Office

Question Number : 1 Question Id : 2549896420 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Windows10 H TIteR 3R BISd Dl el - & [o1U 31T {5y URITH BT SUTNT HId 82

Options :

]. % TRERIS

2. % & UAd

3. ¢ ThIgd TREIRY
4. % 3ifthy

Question Number : 2 Question Id : 2549896535 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main function of a Web browser is to:

Options :

1. # write HTML programs

2. ¥ retrieve information from the World Wide Web and making it available for users.
3. % know the structure and behaviour of a computer system as seen by the user.

4. # interpret CGI programs

Question Number : 2 Question Id : 2549896535 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
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Correct Marks : 1 Wrong Marks : 0

d9 STSOR &1 30 ST 1 82
Options :

1. % HTML 99U fera|

2. ¢ 958 d138 9§ TSR] U 63T 3R I8 IuANTHarsti & e Suasy S|
3. % JUUNTHAT gRT 4 T HeR RieH &t YT 3R TaER & o |

4. % CGl HTUGHI DI gUT BT

Question Number : 3 Question Id : 2549896649 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following represents secondary memory?
Options :

1. ¥ RAM

2. # ROM

3. # Cache memory

4. ¥ HDD

Question Number : 3 Question Id : 2549896649 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

19§ @ -, T fecdlas AR 1 it 82
Options :

1. # RAM

2. ¥ ROM

3. % B AURY (Cache memory)
4. % HDD

Question Number : 4 Question Id : 2549896662 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

EEPROM stands for:

Options :

1. ¥ Eelectrically Erasable Programmable Read Only Memory
2. # Erasable Electrically Programmable Read Only Memory
3. # Easily Erasable Programmable Read Only Memory

4. ¥ Eventually Erasable Programmable Read Only Memory

Question Number : 4 Question Id : 2549896662 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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EEPROM &1 fawaiia (quf) =0 & 32

Options :

1.¢ sﬁm ST MU IS 3=l AART (Electrically Erasable Programmable Read Only Memory)

[a WlinN N\

2. % i?lgldﬂ 5('\1IFGT§OI’>Q'1I ORITHEd 1S 3wt HART (Erasable Electrically Programmable Read Only Memory)
3. % ZfTell ST UIUHed X 3wl AART (Easily Erasable Programmable Read Only Memory)
4. ® ﬁaeq&reﬁ sﬁaﬂ YA S 37wt HHRT (Eventually Erasable Programmable Read Only Memory)

Question Number : 5 Question Id : 2549896888 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an output device?
Options :

1. # Plotter

2. % Monitor

3. ¥ Joystick

4. % Printer

Question Number : 5 Question Id : 2549896888 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

370 Q ST, TP 3H3cye fSarsy Tt &2
Options :

1. % Wi}

2. % AHR

3. ¥ SlaeHh

4. % fiex

Question Number : 6 Question Id : 2549896906 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
OCR stands for:

Options :

1. ¢ Optical Character Recognition
2. % Optical CPU Recognition

3. # Optimal Character Rendering

4. ® Optical Computer Record

Question Number : 6 Question Id : 2549896906 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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OCR &1 QU &0 1 82

Options :

1. ¢ 3ifPHd PR R (Optical Character Recognition)
2. % 3P d cPU R (Optical CPU Recognition)

3. % Gﬁ@_ﬁlﬂ PG IS (Optimal Character Rendering)

4. % 3fPHA Ww (Optical Computer Record)

Question Number : 7 Question Id : 2549897136 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Windows 10 Snipping Tool, is used to choose the kind of screenshot you take.
Options :

1. * New

2. # Delay

3. ¥ Mode

4. ® Options

Question Number : 7 Question Id : 2549897136 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

faSTSt 10 FAftT ger , 3 gRT folt 71T THIFRITC & YR Bl I & forw BT ITART b1 ST 8
Options :

1. * New

2. # Delay

3. ¥ Mode

4. #® Options

Question Number : 8 Question Id : 2549897292 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Hierarchical File System was introduced in 1985 to use in which of the following Operating Systems?
Options :

1. ®# Cent OS

2. ¥ Mac OS

3. % Windows

4. % Linux

Question Number : 8 Question Id : 2549897292 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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9 7 O for SIToRfET Rivew o STt & W 1985 & UaIh it hed ReH &1 Loa3i1d &1 1. A2
Options :

1. % I 3T (Cent OS)

2. ¢ A& 3NTH (Mac OS)

3. % ﬁ@\_ﬂ(Windows)

4. % fFHT (Linux)

Question Number : 9 Question Id : 2549897507 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In which tab of OpenOffice Writer, is the Toggle case option available?
Options :

1. # View

2. #* Insert

3. % Edit

4. ¥ Format

Question Number : 9 Question Id : 2549897507 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

3T 31Ty ISR (open office writer) & g ¢q o oiTd Y faded Sudas g2
Options :

1. % T (View)

2. % ST\’TCF (Insert)

3. % UfST (Edit)

4. ¢ HIHC (Format)

Question Number : 10 Question Id : 2549897722 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following key of a computer keyboard is used to delete the character at the cursor position?
Options :

1. ® Insert

2. ¥ Delete

3. % Space bar

4. % Shift

Question Number : 10 Question Id : 2549897722 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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IR Plas B! Fafead T Y frg St 1 I HIR fRufq W vf 1 gem & forg far Srar 32
Options :

1. % 3¢

2. ¢ f&dite

3. % WY ER

4, % f{M0e

Question Number : 11 Question Id : 2549898695 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following storage types is known as disconnected storage?
Options :

1. ¥ Off-line storage

2. # On-line storage

3. # In-line storage

4. # Cloud storage

Question Number : 11 Question Id : 2549898695 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

U A T DT TR UhR &l fexpae s TR & U & ST STdT 82
Options :

1. ¢ 3BT TR

2. % AR LIRS

3. % 3-8 XR

4. % FARES TR

Question Number : 12 Question Id : 25498923835 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a component of laser printer?
Options :

1. ® Toner cartridge

2. % Image drum

3. ®# Transfer roller
4. ¥ Hammer

Question Number : 12 Question Id : 25498923835 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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fraffad & @ S 91 doR fUiek &1 ucs T8 82
Options :

1. % TR WETF[ (Toner cartridge)

2. % gﬁgﬁ (Image drum)

3. % QAR RATR (Transfer roller)

4. Eﬂﬁ@_‘[ (Hammer)

Question Number : 13 Question Id : 25498929731 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a memory management method where computers use secondary memory to compensate for the
scarcity of physical memory?

Options :

1. ¥ magnetic
2. ¥ virtual
3. % storage

4. % static

Question Number : 13 Question Id : 25498929731 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

frafefad o @ o I te 90Kt s fafd § Sgi dgex Hifde BHRl o) o &t WRuTE & o fgdas aast &1
JUTNT 1 72

Options :

1. % Jabiy

2.« GY3(d

3. % TR

4. % Xfew

Question Number : 14 Question Id : 25498930389 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Computers use and decoding schemes to store and retrieve meaningful information as data
Options :

1. ¥ encoding

2. % enlarging

3. % expanding

4. # lengthening

Question Number : 14 Question Id : 25498930389 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
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Correct Marks : 1 Wrong Marks : 0

HYR IF TSR B ST &b U B UL 3R JAuTd o3 & g 3R FEHIET (decoding) TSN
BT ST HA & |

Options :

1. ¢ Tl (encoding)
2. % Qﬂﬁ’[(enlarging)

3. % Qaﬂ'a:%_r[(expanding)
4. % qufH (lengthening)

Question Number : 15 Question Id : 25498931387 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

USB traffic is divided into of equal length of one millisecond each.
Options :

1. #® tokens

2. # blocks

3. ¥ frames

4. #® pages

Question Number : 15 Question Id : 25498931387 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

USB ¢fthe &1 T e &1 YA dars & T fagufora frar mar g1
Options :

1. % Clb=d

2. % Sl

3.

4. % Uolvl

Question Number : 16 Question Id : 2549898786 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The length of Ipv6 addressesis
Options :

1. # 32 bits

2. % 128 bits

3. # 64 bits

4. % 16 bits

Question Number : 16 Question Id : 2549898786 Question Type : MCQ Option Shuffling : Yes Display Question
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Number : Yes
Correct Marks : 1 Wrong Marks : 0

IpV6Qggﬁa_®ﬂg_%|

Options :

1. % 32 facy

2. ¢ 128 facqg
3. % 64 facy

4. % 16 facy

Question Number : 17 Question Id : 2549899515 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

provides a neat way to present complex information in vertical columns and horizontal rows of cells in
Microsoft Word.

Options :

1. * Pictures
2. % Tables

3. ¥ Margins
4. # Gridlines

Question Number : 17 Question Id : 2549899515 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Microsoft word H ¥ @1 afcdhd HIaH 3R giRGied U H Sfed STHBR! URdd B BT Ud ATh-JURT
RIPT UGH HRAT G|

Options :

1. % foF (UeR)
2. ¥ Ca

3. % Ao

4. % USRSy

Question Number : 18 Question Id : 2549899524 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which among the following register is used for storage data either coming to the CPU or data being transferred by the
CPU?

Options :

1. ¥ Program Counter

2. ¥ Memory Buffer Register
3. ¥ Memory Address Register

4. % Accumulator
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Question Number : 18 Question Id : 2549899524 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

frafafad 7 3 forg IoReR &1 ITaT cPU H 3 aTa ST &) WU B34 I CPU gRT RIMRd fhT oH a1dt ST
forq v Sirar 82

Options :

1. % THITH HI3

2. ¢ HHRI IR IR
3. % TARI Tgd o

4. % YOS (TRHAR)

Question Number : 19 Question Id : 25498910864 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

For which of the following purposes is a printer NOT used?
Options :

1. # To print documents

2. % To print pictures

3. % To print receipts

4. % To play videos

Question Number : 19 Question Id : 25498910864 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

fafalad & T fra Iewa & fon flier &1 Iuan =) far sar 82
Options :

1. % GxATdell 1 e B

2. % foiAl &1 flie B

3. % IS fle B

4. QIS T

Question Number : 20 Question Id : 25498911229 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a dual track magnetic tape, the two tracks are separated by a/an
Options :

1. # channel

2. % upper track
3. ¥ guard band
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4. % Jower track

Question Number : 20 Question Id : 25498911229 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

T QIER ¢ Jadb g U H, gHf eb GRT AT B & |
Options :

1. % o=d

2. % JRH

3. ¥/ S &8

4. % TR CH

Question Number : 21 Question Id : 25498913426 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

We get an impression of when frames are shown on the screen in a faster manner with reference to
video streaming.

Options :

1. % motion

2. ® immobility
3. % unmoving

4. % idleness

Question Number : 21 Question Id : 25498913426 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

o difeal WIH & T # I &1 ThiH IR as deie I feaman Srar € ot gd BT MUY BT ]
Options :

1. ¢ i (HI=HE)

2. % Tl

3. % 3{dddl

4. % {AfSpd

Question Number : 22 Question Id : 25498913502 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a common vector image drawing program?
Options :

1. ®* Photoshop

2. # General Image Manipulation Program
3. ¥ CorelDraw
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4. # Paint Shop

Question Number : 22 Question Id : 25498913502 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
frafiiad & § ®19-91 U I ddex 30 SIS TR /2
Options :

1. #* Photoshop

2. # General Image Manipulation Program
3. ¥ CorelDraw
4. % Paint Shop

Question Number : 23 Question Id : 25498913840 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Since a hash is a smaller representation of larger data, it is also referred to as a with reference to
Cryptography Hash functions.

Options :
1. ¥ digest

2. % digestion

3. % secrete key
4. # public key

Question Number : 23 Question Id : 25498913840 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

<[ B TS ST b1 TP BIeT UfdTeId &, THICTY 39 fepUIITh! 8% iy o Jad i FE1 S 3 |
Options :

1. ¥ S

2. % SIguIRM

3. % Tihe Pt

4. % Ufedidh il

Question Number : 24 Question Id : 25498918508 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which among the following is the function for today's date in MS-Excel 20197
Options :

1. ¥ DAY()

2. % DAYS()

3. ¥ TODAY()
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4. % WEEKDAY()

Question Number : 24 Question Id : 25498918508 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 H 35 1 TR & fow Fufafea § @ o a1 e 82
Options :

1. % DAY()

2. % DAYS()

3. ¥ TODAY()

4. % WEEKDAY()

Question Number : 25 Question Id : 25498922649 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the full form of POST with reference to turning on a computer?
Options :

1. ¢ Power-On-Self-Test

2. ® Pulse-On-Self-Test

3. % Power-On-Self-Terminal

4. # Pulse-On-Self-Terminal

Question Number : 25 Question Id : 25498922649 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

HER & THT 3 (AT 8M) B TaH H POST &1 JUf &9 &1 82
Options :

1. ¢ Power-On-Self-Test (JTAR-3HT-Teh-CX<)

2. # Pulse-On-Self-Test (UT-3HT-Teh-c¥)

3. % Power-On-Self-Terminal (TTaR-3{--TeWh-cfH-a)

4. ® Pulse-On-Self-Terminal (U Q%I—G‘l\ﬁ—{-\lvtb—?ﬁilﬁ‘)

Question Number : 26 Question Id : 25498924069 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
To resize a window of a computer application in two directions at once, you must drag the mouse pointer

Options :

1. # horizontally
2. % vertically
3. ¢ diagonally
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4. # broadly

Question Number : 26 Question Id : 25498924069 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

% IR T &) fazmsii 7 te fasieT UQHRA F1 SMHR daa & g 3! 7139 Uigex &l e g

Options :

1. % afas (horizontally) LUK
2. % GIAd (vertically) TU I
3. ¢ fR& (diagonally) =4 |
4. % fOXId (broadly) U

Question Number : 27 Question Id : 25498924311 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Single Unix Specification Version 2 provides enhanced support for which of the following variants?
Options :

1. ¥ 8 bit

2. % 16 bit

3. % 32 bit

4. 64 bit

Question Number : 27 Question Id : 25498924311 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

WW@@IWW2mm%mm(enhanced)wmmé?

Options :

1. % gfac
2. % 16fdc
3. % 32 fdc
4. 64 fac

Question Number : 28 Question Id : 25498924455 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

How many maximum number of primary partitions are supported by Master Boot Record in MS-Windows 10 OS without
logical partitions?

Options :
1. ® Two
2. % Four
3. % Three



7/15/24, 6:17 PM Online Question Paper PDF Preview

4. % Five

Question Number : 28 Question Id : 25498924455 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

dlfches fAUTSH & foFT MS-Windows 10 0S H AR qc fpis (Master Boot Record) gIRT 3ffemdd fobd- wrufies
fayTe waidd g2

Options :
1. %Q
2. ¥ IR
3. % O
4. % T/g

Question Number : 29 Question Id : 25498924591 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following applications are best suitable to view PDF files?
Options :

1. # Capture One Pro

2. % Notepad

3. ¥ Adobe Acrobat

4, % MS-Paint

Question Number : 29 Question Id : 25498924591 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fafifed & 9§ ®1F-3 Tfe =M PDF BIsdl & ¢@H & 1T 9ad S0gad &2
Options :

1. ® Capture One Pro

2. # Notepad

3. ¥ Adobe Acrobat

4, ¥ MS-Paint

Question Number : 30 Question Id : 25498940432 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Software Testing Life Cycle, which of the following is the APPROPRIATE exit criteria for terminating or concluding the
process of testing?

Options :
1. # When all test cases are NOT done.

2. #% When you run out of time.
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3. # When all bugs are NOT fixed.

4. ¥ When executing and updating of all test cases are done.

Question Number : 30 Question Id : 25498940432 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

I AR GRI&UT St Th |, TRI&0T o1 UfehdT ol JHT B T JHT B & fore Fufafad 7§ 3 s ar sfa
BEAREEIRES (Exit Criteria) %?

Options :

1. % S it otefur A 61 fohy &I & |

2. % OId HTUDT JHY JHIGT ﬁwldl %I

3. % o9 gt 779 &1 3ib g1 fpar Sar g |
4. Sq qUT gRAeor arelt o1 e (execute) 3R 3y (update) fparsar g

Question Number : 31 Question Id : 2549896741 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A is a search tool that sends user requests to several other search engines and/or databases, and
aggregates the results into a single list or displays them according to their source.

Options :

1. # Gopher

2. ¥ metasearch engine
3. % USENET

4. ® gpider

Question Number : 31 Question Id : 2549896741 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

T U1 @ront ¢l (search tool) ? S SUTRTHd! & 3‘@'@[‘&[ ﬁ 3= @Il goi1 (search engines) 3R/ SeTey
DI VSTl § 3R TRUMH B U et # Siedl g A1 3% Al & AR 38 TR PR g |
Options :
1. % THR (Gopher)
2. HeT g g9l (metasearch engine)

3. % ST (USENET)
4. ® WIgST (spider)

Question Number : 32 Question Id : 2549896749 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A/An is a set of rules for sending information and messages over the internet.
Options :
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1. ¥ HTML
2. % applet
3. % ISP

4. % protocol

Question Number : 32 Question Id : 2549896749 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
, 3T R LI 3R =1 9o & forg fadi &1 1 g 3
Options :
1. ¥ HTML
2. % U@l (Applet)

3. % ISP

4. ¢ Yicipld (Protocol)

Question Number : 33 Question Id : 2549897219 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Google drive, search operators can be utilised when the search needs to be narrowed by more specific criteria.
Options :

1. ¥ advanced

2. % local

3. % hard

4. # public

Question Number : 33 Question Id : 2549897219 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Google S1d 1, WSt 3T BT STANT dd b1 ST Yol & oie Tl B! 31 fAfRy Aamds) gri diftg 9
B DA I &l

Options :

1. ¢ USdRsS

2. % qod

3. % g8

4. % Uftih

Question Number : 34 Question Id : 2549897979 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a part of an email address?
Options :
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1. # Username

2. # At symbol (@)

3. % Email provider's domain
4. % User domain

Question Number : 34 Question Id : 2549897979 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

fFrafafed & A ®1H-91, $7d Ud (TgH) BT U 3 181 &2
Options :

1. % TNl BT A (GoR-H)

2. % QB UdIP (@)

3. % SHA UGl 1 1A

4. IUGNTEH Bt SIAA

Question Number : 35 Question Id : 25498910449 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2019, if we apply toggle case option in Change case to "Ramu is good", number of capital letter
will be noticed in modified text.

Options :
1.¥9
2.% 8
3.% 7
4, % 6

Question Number : 35 Question Id : 25498910449 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
MS-Word 2019 H, Tfe &7 I 9 H ITd Y fadhed B "Ramu is good" TR TN HRd &, Ol TNfed ee #
I 3R BT YT o S|

Options :
1.¥9
2. % 8
3.% 7
4. % 6

Question Number : 36 Question Id : 25498910683 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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In MS-Word 2019, which type of break is indicated by given symbol?

Options :

1. ¥ Text wrapping
2. ¥ Column

3. % Odd page

4. ® Next page

Question Number : 36 Question Id : 25498910683 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 , faT 7T forg gR1 {59 YR & S o1 ST TRT 82

Question Number : 37 Question Id : 25498911054 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the Font group dialogue box of MS-Word 2019, which of the following set of parameters are included?
Options :

1. # Font, Font style, Size, Font color, Underline style, Editing

2. ¥ Font, Font style, Size, Font color, Underline style, Effects, Preview

3. % Size, Font color, Underline style, Effects, Analysis

4. ® Font style, Size, Font color, Underline style, Preview, Styles

Question Number : 37 Question Id : 25498911054 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 & Wi I SIAT died # Fufafad # § o9 3 IRfteR &1 I 2fid 82

Options :
1. % i, Bi Yl SATHR, BiT T, SSIens et T
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2. ¢ T, Wi Qe ATHR, Wi I, fSIAR Qett, gHTa, gafaare (e
3. % PR, Bi-C W, ST Qcil, YHTE, fazersor
4. % i< A, MBHR, Wi T, 3feIars- A, garaaie (Deg), Letat

Question Number : 38 Question Id : 25498911475 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Satheesh is working on a MS-Word 2019 document. When he typed ":)', AutoCorrect properly inserts a/an symbol.
Options :

1. # copyright

2. % trademark

3. # arrow

4. ¥ smiley-face

Question Number : 38 Question Id : 25498911475 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

TR MS-Word 2019 H T&h Word SIFHE TR HTH HR 81 8, 51 3T ) <137 fordT, Y 3fic Hae el a1 g
Tl Freferd Bl |

Options :

|. % HIURIZC

2. % TSHTD

3. % W (@R

4. TR B (UHARIT 9870)

Question Number : 39 Question Id : 25498911506 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT checkbox option when correcting Spelling and Grammar in MS-Word 2019 under Auto correct
tab.

Options :

1. ¥ Capitalize first letter of sentences
2. % Capitalize first letter of table cells
3. % Capitalize names of days

4. % Show readability statistics

Question Number : 39 Question Id : 25498911506 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 H gl 3R SHTHRUT (Wl TS UMR) Dl el HRd THT 3iic] Hae od P dgd Hafarad H J Terd

Jhdl] [Ahed &t UgT HI |
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Options :

1. ¥ Capitalize first letter of sentences (a'lazﬁ & UgA 3eR Pl a@: &R A 1%1@)

2. % Capitalize first letter of table cells (ATCTRT Bl & UG &R Pl 99 &R H [ord)
3. % Capitalize names of days (f[&-1 & ¥ §s 31eR| H ford)

4. ¥ Show readability statistics (CIB_"ﬂ'EI?lT GHTJb% EETQ)

Question Number : 40 Question Id : 25498924651 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

With the help of which shortcut can you apply underline to your texts in MS-Word 2019?
Options :

1. % Ctrl +B

2.9 Ctrl+U

3. % Ctul+R

4. % Ctrl + L

Question Number : 40 Question Id : 25498924651 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

ford QcdHe Bt Aga I 3T MS-Word 2019 F 304 TR TR HSATSH T Iabhd 82
Options :

1. % Ctrl + B

2.¥ Cul+U

3. % Ctrl + R

4. % Ctrl +L

Question Number : 41 Question Id : 25498925283 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What do you mean by broadcasting in networking?
Options :

1. ¥ It means addressing a packet to all machines.

2. # It means addressing a packet to some machines.

3. # It means addressing a packet to a particular machine.

4. # It means addressing a packet to all machines, except a particular machine.

Question Number : 41 Question Id : 25498925283 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
FeafhTT & FTSHRE B (broadeasting) T YT FT dATTY |2

Options :
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1. ¢ 3H1 Aaad g b It 7efiei IR U Tobe ol ugq SR

2. % YD AAAY ¢ [ S AR IR TP Yahe Bl Tgd BT

3. % 3T AT g fordd! fadiy =i IR U Udbe &1 TS 3T

4. % P AAAY ¢ [Ht fadw 7efe & Sisax Tt 7= &R T Udhe & 19y o7l

Question Number : 42 Question Id : 25498933796 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a communication protocol used to send files from a computer to another computer, with one of
them acting as the server, provided the two have an internet connection?

Options :
1. ¥ HTTP
2. % DNS
3. ¥ DHCP
4. ¥ FTP

Question Number : 42 Question Id : 25498933796 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

fafiied & § 19-91 U6 YR Ui d & e IUaiT T HEex I gk HeR IR Hied Yol & o fear S
2, orIH 9 U YR & U H B HRAT 8, 92 el H 5e4¢ HIaR g2

Options :

1. % HTTP

2. % DNS

3. % DHCP

4. FTP

Question Number : 43 Question Id : 25498938434 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following protocols is popularly associated with web services?
Options :

1. # SMTP ( Simple Mail Transfer Protocol)

2. ¥ SOAP (Simple Object Access Protocol)

3. % HTTP (Hypertext Transfer Protocol)

4. % DHCP (Dynamic Host Configuration Protocol)

Question Number : 43 Question Id : 25498938434 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

fafafRed & ¥ SH-31 Meield Ae iy U 3 3« Jareh I Jefid 82
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Options :

1. % SMTP (Riud Od TIHR Wictdhlal)
2. ¢ SOAP (RiUd 3ifssiae TaRIY Uieidbid)
3. % HTTP (BRIRCRC TR UlcIdbia)

4. % DHCP (STHATH® BRE BIBIRTA Uleidbid)

Question Number : 44 Question Id : 25498941473 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

When we cells in MS-Excel, we change the appearance of a number without changing the value of the number.
Options :

1. ® copy

2. ¥ format

3. % move
4. % delete

Question Number : 44 Question Id : 25498941473 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel B, 9@ P! P W, R B deg D! daal o1 ot Far &t fgamae (31fav=g) ded ot 81|
Options :

1. % DIUl

2. ¥ B

3.% Hd

4. % {&efle

Question Number : 45 Question Id : 25498941482 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The formula '=B$5*$A5' is an example of referencing in MS-Excel 2019.
Options :

1. * absolute

2. ® immediate

3. % mixed

4. % relative

Question Number : 45 Question Id : 25498941482 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel o, TIHAT '=B$5*$AS' TeH XWRRIT) T U@ IaRU gl



7/15/24, 6:17 PM Online Question Paper PDF Preview

Options :

1. % Uy (TsHege)
2. % qapTd (3HITSTT)
3. T3 ((Has)

4. % gofére (Rafea)

Question Number : 46 Question Id : 25498941491 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In MS-Excel 2019, in the formula ‘=CONCAT(A1,A2), Al and A2 are the names of .
Options :

1. * images

2. % graphics

3. % symbol

4, ¥ text strings

Question Number : 46 Question Id : 25498941491 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 H, BIHAT =CONCAT(A1,A2) &, A1 3R A2 FAHEI
Options :

1. # @'ﬁ(images)

2. % 3Tt (graphics)

3. % 1;IT‘ﬂ$(symbol)

4. ¥ TRE @\7@ (text strings)

Question Number : 47 Question Id : 25498941497 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In MS-Excel 2019, the cell E4 contains ‘=$B4*E$2’. When the same formula is copied to cell F4, it becomes
Options :

1. ¥ =§B4*F$2

2. % =$B5*F$2

3. ¥ =$B6*F$2

4, % =$B5*E$4

Question Number : 47 Question Id : 25498941497 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 ¥, T E4 T WIHAT =$B4*ES2’ T 7T 8 | 516 I BIHAT &1 Ud F4 B S} fovan ST g, a1 78
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 §qErgl
Options :

1. ¥ =§B4*F$2

2. % =§B5*F$2

3. % =§B6*F$2

4. % =$B5*E$4

Question Number : 48 Question Id : 25498941500 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The  dialog window helps to create a macro in MS-Excel 2019.
Options :

1. # Create Macro

2. % Export Macro

3. % Import Macro

4. % Record Macro

Question Number : 48 Question Id : 25498941500 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 H, SR fde), Beh! 9994 H Heg HRdl g
Options :

1. % fpue Am
2. % TIgUIc Aoy
3. % T Aeh
4. ¢ R@pls !

Question Number : 49 Question Id : 25498941514 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following MS-Excel 2019 functions returns a subtotal in a list or database?
Options :

1. ¥ SUBTOTAL

2. % SUBTOT

3. ¥ SUB

4. % STOTAL

Question Number : 49 Question Id : 25498941514 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

ffafad § 9S-I MS-Excel 2019 Ha=M, fdt I=ht a1 Setad H acled (subtotal) UETH BT 82
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Options :

1. ¥ SUBTOTAL
2. % SUBTOT

3. ¥ SUB

4. % STOTAL

Question Number : 50 Question Id : 25498941523 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the MS-Excel 2019 worksheet containing a PivotTable, the Ribbon will contain the PivotTable Tools, with
and tabs.

Options :

1. ¥ PivotTable Analyze; Design
2. # Design; Plot

3. #* Select; Visualize

4. % Summarize; Display

Question Number : 50 Question Id : 25498941523 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 THRMT H PivotTable aTdl, R&F H PivotTable e g1, forad 3R g g |

Options :

1.« fUge L[y CINIENE %GI'IS_"[ (PivotTable Analyze; Design)
2. % {89, wie (Design; Plot)

3. % fqide; ﬁ\_{[\?ﬂ?ﬂg\_ﬂ (Select; Visualize)

4, % RIS, fewd (Summarize; Display)

Question Number : 51 Question Id : 25498941532 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Each column in MS-Excel 2019 has a maximum column width of  characters.
Options :

1. # 31

2. % 63

3. % 127

4,9 255

Question Number : 51 Question Id : 25498941532 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 & U DiaH H quif () B B BiaH AeT sl 2|
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Options :
1. # 31
2. % 63
3. % 127
4. % 255

Question Number : 52 Question Id : 25498941541 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In MS-Excel 2019, the predefined header to display the name of the workbook is
Options :

1. ¥ &[File]

2. % &[Page]

3. ¥ &[Path]

4. % &[Tab]

Question Number : 52 Question Id : 25498941541 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 H, g &1 A8 UaiRid H3 & ol gaHuiRd gex gl

Options :

1. ¥ &[File]

2. % &[Page]

3. # &[Path]

4. # &[Tab]

READING COMPREHENSION

Section Id : 2549897891
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 5
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897932

Question Shuffling Allowed : No
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Question Id : 25498921313 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

India is prone to all kinds of disasters, both natural and man-made. Natural disasters like floods, cyclones, landslides,
earthquakes and droughts keep occurring quite regularly in India. The North Indian states, Bihar, Odisha are all prone to
floods. Cyclones are very common in the coastal areas of Andhra Pradesh, Tamil Nadu, Kerala etc. Himachal Pradesh and
Jammu and Kashmir are frequently affected by landslides that keep the states cut oft from the rest of the country for several
days. Gujarat and some areas of the North-east, Manipur in particular, fall in the seismic zone and can be hit by
earthquakes. Vast areas of Rajasthan suffer from drought-like conditions almost every year. Apart from natural disasters,
fires, accidents, building collapses and explosions also cause a great deal of damage to life and property.

Till 2004 when an earthquake cum tsunami caused large-scale destruction in most South and South East Asian countries,
there was no disaster management plan in place. State governments and some NGOs worked together to provide relief to
the victims. People were shifted to relief camps, they were provided food, clothing and medicines. The entire focus was on
reducing the suffering of people and not on preventing it.

Disasters cannot be completely prevented but the suffering caused by them can be reduced significantly. Early warning can
minimize the potential risk. People can be evacuated in time to minimize the loss of life and property. Our approach to
disaster management has changed from post-disaster rescue to pre-disaster prevention measures.

Disaster management needs a large task force that is well-trained in handling all emergencies. Landslides occur in
mountainous areas, which lead to road blocks. People may get injured or trapped under rocks. Trained personnel are
required to clear roads and shift the injured to hospitals. During an earthquake a large number of people could be buried
under the ruins. Such a rescue operation requires specialized training. Mass media can play a crucial role during disasters. It
can give a correct account of the magnitude of the disaster. It can spread awareness and appeal for help. It can issue timely
warnings and act as a link between the victims and the aid-giving agencies.

Sub questions

Question Number : 53 Question Id : 25498921314 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to the passage, floods are quite common in:
Options :

1. #* Gujarat and Bihar

2. # Manipur and Odisha

3. % Bihar and Odisha

4. # Rajasthan and Gujarat

Question Number : 54 Question Id : 25498921315 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The new disaster management approach focuses on:
Options :

1. # providing relief to survivors

2. ¥ minimizing the suffering of people

3. # evacuating the victims
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4. # clearing road blockades

Question Number : 55 Question Id : 25498921316 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of these statements is FALSE?
Options :

1. # Early warning can reduce risk to life.
2. # Man-made disasters cause destruction.

3. # Landslides occur in mountainous regions.

4. % All disasters can be prevented.

Question Number : 56 Question Id : 25498921317 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A trained task force is required to:
Options :

1. # issue timely warning

2. % supply food and clothes

3. % create awareness about disasters

4. ¥ rescue trapped victims

Question Number : 57 Question Id : 25498921318 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The mass media can contribute significantly by:

Options :

1. # helping the trained personnel with rescue operations.

2. # providing money to the victims and their families.

3. % spreading awareness about the disaster and appealing for help.

4. # entertaining the task force and the victims.

Question Id : 25498921313 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)

faQ T TR Y U 3R ISP MYR W s & IR S

YR Wi 3R ATa FAfHd SH TR 1 Suarsh I I 8 | MG MU oY §g, Tehald, HTaaH, Yéd 3R
T i 0 ¥ HRd B it 384T § | STR YR 3oy, f9gR, shfesn il a1g & 3k € | Iohara sty uas,
qETS, Ha 3fife & acrg & & 9gd o & | feHTad TSR SR S-S =R SR YTaa- ¥ UHTIAd gid & o Xreal
I X P TTh! T B3 ol g BIc gd (YThiaal ST H 37d) & | ToRTd 3R IWR-Jd & $ &=, favy =y
Y AR, YUl &3 H 31d § 3R YU I W I B Fehdl & | AR & (AT Fellch TTHT 8 A1t g & difsa
TEd & | M fadh SMuaraft & e, 31T, gee, SHRd &1 fARAT iR fawpie i St 3R Jufy &) &1t JHaH
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R
2004 TP S8 YU & FT JATH SABT Gfar07 3R o gd TS =i 7 98 THM W A1 &1 SR 1 2, 7
IS UG T Qo1 g1 Ul 1 T WRHRI 3R $& IR WBRI W16 3 UfSdll 1 I8d Tal $ & farg fAee
& forar | anTl &) Igd RIfRT & wimiala fasar m, 3= HieH, $Us 3R Ta1d IUds RT3 T3 | QT &1 AN bt
ST HH & | U1, 9 o 38 Ap W

3TaeTaft 1 OR1 TRE A AT el off Whdll § b1 37 HRUI G aTal UIeT & Agayul U o & T o 9ehdl g |
ST TATE YHTIAT ST BT HH B bl ¢ | Siia 3R YUfT & JHUT Bl HH B b (o8 A1 ! T Igd
et faT S Havdl | STUaT Yaie & foIe gHRT 2P 101 SHTUST UTd Sd1d ¥ 3HTIST gd JAHUTH Iurl § 96d T g |

3MTYET Uit D1 U J9 B 51 B SIIDHI Blcll & ol THT STt FRUfCrdl b1 FHTe H sl ave | UM gl ol
YRGT UGTS! SATh! H Bl & ol S& Bl 3HTTG B & | AN U1 81 Yhdl ¢ A1 IS & -1 g b & | TR
ST D TSH! DI TTH B 3R I B SRYATA H RIFIART PR 1 aTIhdl 81T 8| HebU P SR TSt
=T § o1 WeER! & I B S 81 Fobd © | 39 IRE & Ueh srard T & fore iRy ufiaror &) srawaedn gidl
& | 7Y WIS sugrslf & GRM Ueh Hgayqul iHeT FIHT Hehdl 8| I8 SHTUCT BT gt URHA ¢ el | T§

SIFRe & dT thell Gobdl & 3R AGe & ol 3Mid o) Jobdl & | I8 IHY TR ATl IRt &R Ihdl g 3R YISl 3R
TeTadT ¢ aTel ToiRidl & &g U fois & %0 § if R bl 5 |

Sub questions

Question Number : 53 Question Id : 25498921314 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
TR & SIHR, §1¢ 9 & 9 $gl 3 52

Options :

1. % TORId 3R fogR

2. % OOMR 3R fifS=m
3. ¢ f9ER 3R anfezm

4. % JORYM 3R ORI

Question Number : 54 Question Id : 25498921315 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

T1 3 Usiy =f¥aur g & T forg R e SHfed srare?

Options :

1. % §d N DI I8d UaH BT
2. ¢ QI D) UIST &l HH Bl

3. % GIfSdl ol Qe HA1

4. % TSH P AR Bl YT HRAT |

Question Number : 55 Question Id : 25498921316 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

9 & ¥ -1 HYT Tdd 82
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Options :

1. % BT AdTa St & SNAH B HH B Jbdl g
2. % A4 fAfHfd smuert fammer &1 HRu ad B

3. % YTGa UgTet e A B |

4.« it 3ueTaif Y bt o Tebell & |

Question Number : 56 Question Id : 25498921317 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

U U ord 91 i SaRgear 9 H I forg forw gl 32

Options :

1. % FUY W ddraH! SR} 6 & g

2. % IS 3R I Bt 3MMYfd B & fog

3. % 3Muerafl & IR H SFReal e & forg
4. ¢ 8 gUTHSd & TR & forg

Question Number : 57 Question Id : 25498921318 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A T frads gRT Hedyul GRTEH &R Johdl /2

Options :

1. % S91d H1 H URIEd Sl &1 deg H1|

2. % TSl 3R I URGRY &I ¥ Iuds BT

3. ¢ 3UST & IR H TRl helHT 3R Heg B 3did BT
4. % TP HIY 3R NS BT 7R BT

QUANTITATIVE APTITUDE
Section Id : 2549897892
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897933

Question Shuffling Allowed : Yes
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Question Number : 58 Question Id : 25498928882 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the approximate value of the given expression? (You are not required to calculate the exact value.)

1299 + 19.99 x 25.01 + 400.01
Options :
| 2025

5 % 2300
s % 1925

4 % 2200

Question Number : 58 Question Id : 25498928882 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

9 TSI BT HH AU H T G2 (3T Tl HIF &1 0T 8] B! §)

1299 +19.99 x 25.01 + 400.01
Options :

|« 2025
5 % 2300
3 % 1925

4 % 2200

Question Number : 59 Question Id : 25498928947 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The compound interest earned on a sum in 3 years at 15% per annum compounded annually is ¥6,500.52. What is the sum?
Options :

1. ¥ 312,480

2. % 210,500

3. % 314,800
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4. % 213,620

Question Number : 59 Question Id : 25498928947 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

foraft R U= 3 auf H 159 Tl oy o1 2GR S1fSTa Tehgia & 26,500.52 B 1 98 R A1 ST
Options :

1. ¢ 212,480

2. % 210,500

3. % 214,800

4. % 213,620

Question Number : 60 Question Id : 25498929016 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the approximate value of the given expression? (You are not required to calculate the exact value.)

24967 + (34.11 = 20.05) + 67.96 — 89.11
Options :
1. ¥ 884
2. ¥ 346
3. % 252
4, ® 424

Question Number : 60 Question Id : 25498929016 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

3T 71U oI HT SIHTT HIH &1 82 (3MTUH! Yids [T &1 0T HRA B ATIRISHdl el §)
24.96% + (34.11 + 20.05) + 67.96 — 89.11

Options :

| % 884
, v 346

3 % 252

4 % 424

Question Number : 61 Question Id : 25498929117 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
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Correct Marks : 1 Wrong Marks : 0

The average of 10 numbers is 28. If the average of first 6 numbers is 20 and that of the last 6 numbers is 33, then find the
average of 5" number and the 6" number.

Options :

1. # 18

2.% 19

3. % 195

4. % 20.25

Question Number : 61 Question Id : 25498929117 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

10 TTSHt T 3T 28 § | TS Ugelt 6 TReTsit &1 3frd 20 § 3TR 3ifam 6 TBaT &1 3fid 33 8, af 5dT W 3R 6t
ST BT 3 1 B

Options :

1. ® 18

2.919

3. % 195

4. % 20.25

Question Number : 62 Question Id : 25498929477 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The sum of the 5™ and 9" terms of an arithmetic progression is 30. If its 25" term is 3 times its 8™ term, then the 41 term
of the progression is:

Options :
1.%5
2. %7
3.9
4. % 11

Question Number : 62 Question Id : 25498929477 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

gﬁ;ﬂﬂmﬁw@%saﬁwguﬁwmm%lui%sﬂaaﬁwzsmuasﬂ%@uam?ﬂqw%,a‘fwﬂww
)

Options :

I.% 5

2. % 7

3.9

4. % 11



7/15/24, 6:17 PM Online Question Paper PDF Preview

Question Number : 63 Question Id : 25498929480 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

When 2 is subtracted from each of given n numbers, their sum is 110. When 5 is subtracted from each of them, their sum is
20. The average of the given numbers is :

Options :
1
°3

1. =

Question Number : 63 Question Id : 25498929480 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

OE & T3 0 T3l H O S A Y 2 U SIdl 8, @l ST AT 110 BT g1 576 3741 A Ud® § F 5 ger Jral g, o)
BT TR 20 BraT g | &1 173 TReaif o7 3id 1 82

Options :
1
°3

1. =

GENERAL MENTAL ABILITY AND REASONING
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Section Id : 2549897893
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897934
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910138 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third word in the same way as the second word is related to the first word.

Pituitary : Brain :: Thymus : ?
Options :

1. # Larynx

2. * Spinal cord

3. * Throat

4. % Chest

Question Number : 64 Question Id : 25498910138 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

IY faced o1 9 B3 ST IR Weg T S I UHR Jaifdid & S GORT Weg Ue ) Yoq, J Jadd 3

T (Pituitary) : FITS (Brain) :: YTSHY (Thymus) : ?
Options :

1. % aﬁa'\q(Larynx)

2. % ﬁm (Spinal Cord)
3. % [l (Throat)

4. ¢ BT (Chest)

Question Number : 65 Question Id : 25498912922 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Study the given letter series and answer the question that follows.

HDYSMWNBQPOCRTBLZVEGUF
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Which two adjacent letters in the given arrangement are farthest in the alphabetical order?
Options :

1. % Band Q

2. DandY

3. % Uand F

4. % VandE

Question Number : 65 Question Id : 25498912922 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

T & TS SreR-SRaa BT e Y 3R Fafifad uy B I S|

HDYSMWNBQPOCRTBLZVEGUF

TS AT H DI A & A (&R qUITTHH H Ja9 g2 67
Options :

1. % B3R Q

2.¢D3RY

3. % USRF

4. % V3RE

Question Number : 66 Question Id : 25498918984 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Select two words (from 1, 2, 3, 4 and A, B, C, D) related to the pair of words already given — one word for each of the two
given words.

I : Pacifist :: Religion : 11

I. (1) War (2) Atlantis (3) Object (4) Conscience
II. (A) Devout (B) Sacred (C) Atheist (D) Minister
Options :

1. 1C

2. % 4A

3. % 4B

4. % 4C

Question Number : 66 Question Id : 25498918984 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
g@mmw%wawamm, 3,4 3R A, B,C,DIA) BT ITA BN - QUM U3 A Y UAS &
Ueh Ve |
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1 : Srifaaret :: o - 1

L (1) < (2) 3fcdifed (3) 9% (4) faa®
I (A) H&d (B) Ufdd (C) ATTRIh (D) Haft
Options :
1.¥1C
2. % 4A
3. % 4B
4. % 4C

Question Number : 67 Question Id : 25498919872 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is
different.

Options :

1. * Trigger
2. ¥ Muzzle
3. ¥ Palette

4, % Barrel

Question Number : 67 Question Id : 25498919872 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

I IR WG U T & I8 o Xeg [l aich & Uah-TH 07 a1l § QAo iy U AT eg 3 I A A 5
S et (31T &) g, BT el T |

Options :

1. % fOR

2. % Hld

3. ¢ Udle

4. % Tt (SR4)

Question Number : 68 Question Id : 25498939843 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is
different.

Options :
1. # Cranium

2. ¥ Tendron
3. # Diaphragm
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4. # Rib cage

Question Number : 68 Question Id : 25498939843 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

IR Yee, fRU MU, o @ 7 Tree ol =0 & U TAM § Safes =T 2rsg el 8 | et Wroq b1 T Y |
Options :

1. % ohfgH (Cranium)

2. %@7{ (Tendron)

3. % SHUMhIH (Diaphragm)

4. % U'E{IW fUsR (Rib cage)

Question Number : 69 Question Id : 25498939945 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

This question consists of six statements followed by options consisting of three statements put together in a specific order.
Select the option that indicates a valid argument containing logically related statements, that is, where the third statement is
a conclusion drawn from the preceding two statements.

A: All synopses are poets.

B: Some synopses are mentors.
C: Some X are not mentors.

D: All X are poets.

E: All synopses are mentors.

F: All synopses are X.

Options :
1. % ACB
2. % AEC
3. % FEC
4. ¥ DFA

Question Number : 69 Question Id : 25498939945 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

S UY H B8 YT g 3R I dI¢ dIF YT & [dhey g ol T ARy H A T Iy W@ U E | 39 fahey o1 9g+
ﬁa‘rmﬁgw@rﬁdﬁamﬁmﬁw%aﬁ?ﬁéﬁam% 3ryfd, Sgt dRT HUA fUed & HyAl T Ferar
7 fAshy B

A: gt IR S B

B: $6 YR SUSYH |
C: T8 X ISP g g
D: I X B3 1

E: 9 ORI Suews B
F: gt IR X B
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Options :

1. ¥ ACB

2. % AEC

3. % FEC

4. ¥ DFA

GENERAL AWARENESS

Section Id : 2549897894
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897935
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895356 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

During the monsoon season, rainfall decreases from the Ganga delta to the Punjab plains. This is because the:
Options :

1. % monsoon current moves westward along the Ganga plain and becomes drier.
2. ® western regions are warmer.
3. % hills do not form barriers for winds.

4. # area is far away from the sea.

Question Number : 70 Question Id : 2549895356 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

YA & AT & SRM, T Seel I UoTd & A 3aTh! adb aui &H g1 oiTd ¢ | 37 391 § ifes:

Options :

1. ¢ TG 4R T & AeM & Y-y Uiy Bt 3R dadt § 3R Y 81 Skl 8
2. % Ui T §

3. % Ugifear garsil & forw 3Rty gt st

4. % U8 &F TG A HIHI R o
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Question Number : 71 Question Id : 25498912539 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What could be the reason for the formation of the ozone hole in the Antarctic region?

Options :

1. # Presence of prominent tropospheric turbulence, and inflow of chlorofluorocarbons.

2. ¥ Presence of prominent polar front and stratospheric’, clouds, and inflow of chlorofluorocarbons.
3. ¥ Absence of polar front and stratospheric clouds, and inflow of methane and chlorofluorocarbons.

4. ® Increased temperature at polar region due to global warming.

Question Number : 71 Question Id : 25498912539 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
3feTféd &= H, Siieia IRd § 8¢ a7 &1 HRUI 95 H ¥ R @T 82

Options :

1. % T &iyHSay RMfa &1 SURUf, 3R FARIFIRIBTSH BT Yag

2. ¢ TG YA A 3R IHAY Hed o1 SUfRfA, I1ed, 3R FaRITAR T &1 Targ

3. % ydTg ST SR FHAIHS A FTedl &I UM, 3R 11U iR FRITKIRIBIS &1 Targ
4. % TS AT & HROT AT &7 T o= J gig

Question Number : 72 Question Id : 25498912792 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

With which sport do you associate the name of Rod Laver?
Options :

1. # Field Hockey

2. % Football

3. ¥ Water-Polo

4. % Lawn Tennis

Question Number : 72 Question Id : 25498912792 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

1S AR BT 44 9 7 1 fbg wal 4 Haftd g2
Options :

1. % BIcS gl

2. % padld

3. % gl Urdl

4. A Y
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Question Number : 73 Question Id : 25498932027 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Vijaya Mehta has earned distinction in which of the following fields?
Options :

1. ¥ Theatre

2. % Journalism

3. #¥ (lassical dance

4. ® Sports

Question Number : 73 Question Id : 25498932027 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

fareran Hgan = FafRad 2 fg & 7 fafkiyan sifsfa &t 82

Options :

1. ¢ [T

2. % GHBIRG
3. % QA A
4. % 9

Question Number : 74 Question Id : 25498933647 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Three-tier system of Panchayati Raj consists of:
Options :

1. ¥ Gram Panchayat, Panchayat Samiti, Block Samiti
2. % Gram Panchayat, Block Samiti, Zila Parishad

3. # Block Samiti, Zila Parishad, Panchayat Samiti

4. ¥ Gram Panchayat, Panchayat Samiti, Zila Parishad

Question Number : 74 Question Id : 25498933647 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ul 1S b It gomrelt # e 7 9 - 2nfid 82

Options :

1. % I Uad, g 9iHfd, e gifd
2. % W UARId, TRde i, forem ufkvg
3. % TRge i, i ukve, dargd affa
4. U YT, Gamad ifd, forem aikeg
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Question Number : 75 Question Id : 25498935901 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is the composition of carnallite?
Options :

MgCl,.KC1.6H,0
Feq0y
3 % N33A|F5

4 % NEQA];_:DS

Question Number : 75 Question Id : 25498935901 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

79 T ¥ S AT Y FHATSE (Carnallite) F TG &I T HRAT 82

Options :
. MgCl,.KCI.8H,0

, » Fe304
3 % Na 3)':"1[]:5
4 % Na 2#\.[293
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Section Marks : 0
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Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 2549897936

Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 76 Question Id : 25498945238 Question Type : TYPING TEST Display Question Number : Yes
Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as
teamwork, socializing, decision making, independent and responsible living and more. It aids the overall
development of a child and children have fun during this process as they get to explore new arenas.
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English Typing Test
Section Id : 2549897896
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897937
Question Shuffling Allowed : No
Is Section Default? : Yes

Question Number : 77 Question Id : 25498941465 Question Type : TYPING TEST Display Question Number : Yes
Calculator : None

Processing coffee is a big thing and it is extremely important in determining how the coffee comes out as a finished
product. We use the word processing to refer to every stage of the coffee making process. From harvesting the coffee
cherries by hand picking them off the plant to the time when the coffee beans are finished off so that they can be
shipped. The coffee bean is actually a seed inside the coffee cherry and the cherry fruit must be separated from the
bean properly. For this we can use one of these methods which are neutral and washed. This is a method that brings
out an extraordinarily clean cup with delicate yet crisp flavours and a marked acidity to it. In order to bring out the
best flavours in the coffee beans being processed coffee cherries must be separated from the beans as soon as
possible after they have been hand picked. Beginning this part of the processing method the day after the cherries
were picked can negatively affect the flavour of beans. So therefore it should always be done on the same day. From
here the coffee cherries are washed using vast quantities of water and some very particular equipment leading to the
maximised preservation of the potential of coffee beans. The coffee produced by this method is strikingly similar to
others of its batch and green. Very few beans that are determined to be waste product are to be found. The coffee
may be dried by mechanical means by a manmade dryer or by the sun or by both. When sun drying is used the
beans are laid out on brick or concrete patios. Sometimes these are not available and the beans are instead laid out
on netting made of fine mesh wire which is preferable. Frequent turning occurs so that the drying is even all over
the bean and takes anywhere from eight to ten days to complete. This is of course dependent upon humidity and
temperature both of which can help or hinder this method. Hot air drying machines make this process much faster
especially for large coffee farms where many coffee beans require processing at once and there may not be enough
patio space to sun dry all the beans. However it can be easy to accidentally damage the coffee beans and ruin their
cup quality. So monitoring the machines and beans inside them carefully is a necessity. Jam like fruit flavours
accompany coffees processed using this method. The method is also known as neutral and as one of the most dated
methods around. It does not necessitate the use of much machinery. In the dry method the entire hand picked coffee
cherry is dried. This process has a number of differences depending on which group of people is carrying out the
task what facilities can be used and the entire size of the plantation. Sorting must first take place in order to
eradicate any damaged or unripe or otherwise defective cherries. Since the cherries are not washed in the same way
as they are in the wet method. Excess waste like soil and twigs is usually removed by hand using a sieve. After the
cherries have properly dried they are then held by large coffee silos and sent to a mill.
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